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Q1. (10%)

Given (x%5 + 2)Y = ¢?*, please find y'.

Q2. (10%)

Given f(x) = log,(log,x), please find f'(x).

Q3. (10%)

Given f(x) = x*", please find f'(x).

Q4. (10%)
Please evaluate the following integral:

bx —7
5x% — 7x

Q5. (10%)

Please evaluate the following integral:

4elog2x
dx
2 X

Q6. (10%)

Please find the area of the region completely enclosed by the graphs of the following two functions:
f(x) =x*—3x+3and g(x) =x+ 3.
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Q7. (10%)

Please evaluate the following integral:

xe”® p
f(x+ 1z

Q8. (10%)

Please determine the radius of convergence and interval of convergence for the following power series:

ii—n@x — 8"

n=1

Q9. (10%)

Please calculate the following value:
1
lim (xz sin-—)
x—=0 X

Q10. (5+5=10%)
Consider the following function:

1
7+ 8x

fx) =

(1) Please find the Taylor series of the function at the point x = 0.

(ii) Please give the interval of convergence for the series.
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